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Resuelva las ecuaciones logaritmicas:
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Logl =0 logh=1 logh =m a"® = n
Lne=1 el = o 109" _ & loglo=1
wiz_ ] logatlogb=logab| |loga-logb=log & loga™=nloga
log—\r’——gloga gariogh=log ga-log gb
o _log, loga=logh < a=b
log, = # oga=logh < a
g-?} logi

1.- 3% =6561 2.- 324 =729
3.- /7776 =6 4- %5% +3/55 =30
5.- /128 + %128 =20 6.- 5% =625

7.- Log3x=Log72

9.- Log(x+2)+Log(x+3)=Log2

11.- log(x +7) = log(x+5)

8.- Logx+Log2=Log60-Log5

10.- Log(x+9)-Logx=Log(x+1)

12._ 9X2—7X+12 — 1

13.- 79759 — 343 14.- 892 _ 4006
x*-18x2+86 _ i 064
15.- 6 = 7776 16.- 4 T 257

17.- 3x 2% =192x 3*2

19.- x*—x7*=1+x)~"

21.- 3431 432 433 13 =363

18.- 5x 3?7 x 3* =3456
20.- log(7x-9) *+log(3x —4)* = 2

1 1

22.- + =
5-logx 1+logx




23.- logNTX 5 + 10g2X 17 =1+ log45 24.- 0IB5 =X _

log(5 - x)
25._ 55—3)( — 2X+2 26.‘ 3xex—2 :102X—5
7 2
27.- 37 x5 = QX2 5 7MX 28.- (le ~6327 x(ﬁjg
20 39
x—i x—l
29.- 4% -3 2 =3 274 30.- ——=¢*
bx+
100" +1 4 N N
31.- ]_OIT = E 32.- 5|093+4|0981 =18
33.- log(x-1)+log(2x+1)=log(x-2)+log(5x-1)
34.- log/2x-9 +log/4x—1=log+v2  35.- log:+4log’ =6
6.- log{™*¥—log V" =2 37.- 6" —%—6 x
L 2 lo L
38.- x"9% xa+xxb'"® —330 =0 30.- X —x =1
2 s e
_ Iog(aXZ)logx _ IOg a.Ioga =10 logb? 41.- ax+1 — bx—1C2x
16 3x-7 7x-3
42.- 1090 —10'09("’9*] =6 43.- (Ej :(ZJ
7 3
44 - xIogg =9 45.- X& 2(\/;))(
X §
46.- 5% =17 47 - log(2x3+x2) = 0.9
48.- log®>3/10 = 4 49.- Ln(x ,—2x +1) = log¥
50.- a**'=b**c* 51.- (0.171)X=i

loga

52.- 100'%*x10%* +10*%" x 10g1000°9*** =10



Respuestas:

1-4 2-5 3-5 4-3 5.-7/4 6.-4:-1
7.-24 8.-6 9--1 10.- 3 11--3 12-3:4
13-2:3 14.-9iT V198 15 43 16-3:-1  17-3 18.- 4.31718
10-2:1  20-2:13/21 21.-5 22.-53958 : 18533 23.- 10
24-2:3  25.-120636 26.-292  27--075  28.-6,41387 x10°°
293020 30._1oga+logh 31.- V3: 243 32- 27 33-1
loga—loghb-2logc 3
34.- 45580311 35.- 16 36.- 13.149111 37.-0: 04728859
38.-3 39.- 04571516 40- Ya 41.. _1oga+logh
2logc—loga+loghb
42.- 108102 43-1 44.- 81 45.- 4
46.- 6.9169087 47.-1,1811955 48.- 10 49.- 474 - -2.745
loga+loghb a’(a+3)

" 4logc—loga+logh

51.-1.35774 52.-
(a+b)



